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Population becomes when there is investment made in the form of education,
training and medical care.

A. Working capital

B. Fixed capital

C. Social capital

D. Human capital

2 Activities like agriculture, forestry, animal husbandry, fishing are included in
A. Primary sector

B. Secondary sector

C. Tertiary sector

D. Public sector

3 What kind of economic activity includes production of goods or services including government
service?

A. Non- market activity

B. Market activity

C. Tertiary activity

D. Primary activity

4 [lliterate and unhealthy population are a for the economy.
A. Investment

B. Liability

C. Resource

D. Asset

5 People who depend on agriculture usually face
A. Educated unemployment

B. Seasonal unemployment

C. Disguised unemployment

D. BothBandC

6 Which one of the following is related to the tertiary sector?
A. Agriculture

B. Forestry

C. Mining

D. Communication
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Which of the following statements is not correct in the context of unemployment?
A. Unemployment leads to wastage of manpower resource.
B. People who are assets for the country turns into liability
C. There is a feeling of hopelessness and despair among the youth
D. Though the economic overload remains the same in the country the quality of life
deteriorates.

In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option:

Assertion (A): Education is an investment in human capital.

Reason (R): Education helps to develop the skills and knowledge of individuals, which in turn can
lead to higher productivity and income levels.

Options: -
A. Both A and R are true and R is the correct explanation of A.
B. Both A and R are true but R is not the correct explanation of A.
C. Aistrue butRis false.
D. Ais false but R is true.

Read the statements and choose the correct option:
Assertion (A): Unemployment is a wastage of human resources.
Reason (R): Unemployed individuals are contributing to the economy and are an asset to society.

Options: -
A. Both A and R are true and R is the correct explanation of A.
B. Both A and R are true but R is not the correct explanation of A.
C. Aistrue but Ris false.
D. Aisfalse but Ris true.

Read the following statements and find the correct option:

1. Vocational Streams have been developed to equip large number of high school students
with occupation related knowledge and skills.
2. Karnataka and Tamil Nadu have maximum number of medical colleges.
3. InIndia, educated unemployment is a common phenomenon in rural areas.
Options: -
A. All three statements are correct.
B. 1and 2 are true but 3 is false.
C. Only 1istrue.
D. All statements are false.

10

What is the major aim of Sarva Siksha Abhiyan?
A. To provide elementary education to women.
B. To provide elementary education to the rural poor.
C. To provide elementary education to all children in the age group 6-14 years.
D. To provide elementary education to the urban poor

11

Why are rural women employed in low-paid jobs?
A. They do not need to work in high-paid jobs
B. They lack in education and the necessary skill
C. They are not allowed by their families to do high paid jobs
D. They are not aware of the wage structure
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12

Infant mortality rate refers to the death of a child under the age of
A. 1year
B. 2years
C. 3years
D. 4 years

13

Read the extract given below and answer the questions that follow:

In case of India we have unemployment in rural and urban areas. However, the nature of
unemployment differs in rural and urban areas. In case of rural areas, there is seasonal and
disguised unemployment. Urban areas have mostly educated unemployment. Seasonal
unemployment happens when people are not able to find jobs during some months of the year.
People dependent upon agriculture usually face such kind of problem. There are certain busy
seasons when sowing, harvesting, weeding and threshing is done. Certain months do not provide
much work to the people dependent on agriculture.

In case of disguised unemployment people appear to be employed. They have agricultural plot
where they find work. This usually happens among family members engaged in agricultural
activity.

Answer the following MCQs by choosing the most appropriate option: -

1. A farmer who does not have any work to feed his family after harvesting season,What type
of unemployment he is facing?

Disguised unemployment

Seasonal unemployment

Educational unemployment

All of the above
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2. A person who is a post-graduate student, who is unable to find work despite of having
higher qualification. The person is facing:

A. Seasonal Unemployment

B. Educated Unemployment

C. Disguised Unemployment

D. None of the above

3. Seasonal and disguised unemployment are common phenomena in which of the following
places?
Rural areas
Urban areas
Semi-urban areas
None of the above
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Disguised unemployment occurs when the number of persons working on a farm is

only what is required
more than required
less than required
None of the above
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